Econ 328 
Exam 1 
September 22, 1995 


Write all answers in your blue book. Show all of your work. 



1. State whether each of the following could be a game tree. If not, explain why not. 


(a) (5pts) 




(b) (5pts) 




2. (10pts) State the Expected Utility Hypothesis. 



3. (15pts) Suppose the Von Neumann Morgenstern (VNM) axioms hold. Consider the set of outcomes X = {$100, $30, $10, $0}. Suppose Susan is indifferent between having $10 for sure and having the lottery L1 = ($100:0.2, $0:0.8). Susan is also indifferent between having $30 for sure and having the lottery L2 = ($100: 0.4, $0:0.6). Fill in the following chart in your bluebook. 

	Outcome
	Susan's Normalized VNM utility

	$100
	
	
	

	$30
	
	
	

	$10
	
	
	

	$0
	
	
	





4. (14pts) Suppose U(x) = 2x is a VNM utility function for Brenda. Could W(x)=10x+14 also be a VNM utility function for Brenda? Explain. 


5.(15pts) Suppose that Matt has no wealth. His preferences satisfy the VNM axioms. Matt prefers L1 to L2 and L2 to L3 , where L1 = ($5:0.5, $0:0.5), L2 = ($10:0.25, $0:0.75) and L3 = ($3.33:0.75, $0:0.25). Letting U represent Matt's VNM utility function, suppose U($0) is 0 and U($10) is 1. Find upper and/or lower bounds for U($5) and U($3.33). Plot his utility function, given these bounds. What can you say about Matt's attitude towards risk at his current wealth? 



6. A tulip will be either red or yellow and may bloom either early or late. The following chart gives the joint probabilities for these two variables. 

	
	
	Red
	
	Yellow

	Early
	
	0.06
	
	0.34

	Late
	
	0.04
	
	0.56




(a) (5pts) What is the marginal probability of getting a red tulip? 

(b) (5pts) What is the probability of getting a red tulip given you have an early tulip? 

(c) (5pts) Are these variables stochastically independent? Explain. 



7. (6pts) A formal definition of a game consists of six elements. List these six elements. 



8. (15pts) Define a pure strategy. Consider the following game. What are all of player 2's possible pure strategies?
